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= Year 11                = Combinatorics                = Worksheet 3
	1. Evaluate  (a)  
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	2. A college has 750 students. In how many ways can a delegation of ten be selected to represent the college?

    

	3. A college has 750 students and 400 of them are girls. In how many ways can a delegation of ten be selected such that four of them are boys?


	4. Refer to Q3. In how many ways can a delegation of ten be selected such that at least five girls and at least three boys are in the delegation?



	5. Refer to Q3. In how many ways can a delegation of ten be selected such that at least one boy is in the delegation?


	6. Show that 
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	7. Find the number of ways to travel from A to B along the gridlines within the confines of the loop without going backwards.
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	8. Find the number of ways to travel from P to Q along the paths shown below without going backwards.                    

                              P                                                         

                                                                                         Q

	9. How many positive integer solutions are there for the linear equation of four variables 
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	10. How many non-negative integer solutions are there for the linear equation of four variables 
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	11. There are 11 customers queuing for service in front of 4 bank tellers. Find the number of arrangements of the queuing customers if there is at least one customer in each queue.

	Numerical, algebraic and worded answers.


1.  120, 120, 1, 1


2.  750C10


3.  400C6350C4


4.  400C5350C5


     +400C6350C4


     +400C7350C3


5.  750C10(400C10


7.  241


8.  60


9.  120


10. 364


11.4790016000
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